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Cong va tru (Trong gio1 han 20) Ho va Tén:
Giai cac phép tinh.
7+7= 3+8=
6+4= 247=_
7+3= 2+6=_
5+1= 4+4=__
3+45=_ 6+9 =
7+5= 2+9=
7+4= 7+2=__
6+6= 9+5=
1+1=_ 1+8=_
8+8= 6+1=_
4+7= 6+2=__
5+3=_ 3+7=
3+3=_ 17-9=_
T-1=__ 4-2=
11-3= 10-4=
13-4=_ 4-3=_
1-7=__ 8§8-3=_
14-7=_ 12-8=
10-8=_ 13-7=
14-8=_ 18-9=_
12-6=_ 15-7=
6-3= 10-7=
11-4= 9-8=
10-2=__ 12-7=__
6-5=_ 11-8=
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Cong va trur (Trong gidi han 20)

Hovélén:146i giﬁi

Giai cac phép tinh.

7+7= 14 3+8= 11
6+4= 10 2+7=_09
7+3= 10 2+6= 8
S+1=_6 4+4=_38
3+5= 8 6+9= 15
7+5= 12 2+9= 11
7+4= 11 T+2=_9
6+6= 12 9+5= 14
I+1= 2 1+8= 9
8+8= 16 6+1= 7
4+7= 11 6+2=_38
5+3= 8 3+7= 10
3+3= 6 17-9= 8
7-1= 6 4-2= 2
11-3= 8 10-4= 6
13-4= 9 4-3= 1
11-7= 4 8-3= 5
14-7= 7 12-8= 4
10-8= 2 13-7=__6
14-8=__ 6 18-9=_9
12-6=_ 6 15-7= 8
6-3=_3 10-7= 3
11-4= 7 9-8= 1
10-2= 8 12-7= 5
6-5= 1 11-8= 3
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